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QUESTION 1

How can one ensure that a specific switch will be select as root in an STP network? 

A. Set the bridge priority to 131071. 

B. Set the bridge priority to 0. 

C. Set the bridge priority to 32768. 

D. Leave the bridge priority as the default. 

Correct Answer: B 

 

QUESTION 2

Which of the following describes the overhead added to a customer frame on an Ethernet link in a VPLS service on the
Alcatel-Lucent 7750 SR? 

A. The overhead consists of 26 bytes. 14 DLC + 2 Ethertype + 8 for mpls labels + 2 for GRE 

B. The overhead consists of 14 bytes for DLC. 

C. The overhead consists of 18 bytes. 14 DLC +4 for mpls labels 

D. The overhead consists of 22 bytes. 14 DLC + 8 for mpls labels 

Correct Answer: D 

 

QUESTION 3

Click on the exhibit below. 

Based on the output below which of the following statements is true? 
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A. This Bridge is furthest from the Root Bridge within the VPLS mesh. 

B. This Bridge is the Root Bridge. 

C. SAP 1/1/1 is an Edge Port. 

D. This Bridge is closest to the Root Bridge within the VPLS mesh. 

Correct Answer: D 

 

QUESTION 4

What is the MTU impact on the SDP path-mtu if fast reroute, one-to-one mode is implemented on the LSP? 

A. There will be no impact on the path-mtu. 

B. The path-mtu will decrease by4 bytes. 

C. The path-mtu will increase by 4 bytes. 

D. The path-mtu will decrease by 8 bytes. 

E. The path-mtu will increase by 8 bytes. 

Correct Answer: A 

 

QUESTION 5

If the max remote-age timer of a B-VPLS is reached, what happens to the remotely learned MAC addresses in the l-
VPLS service? 

A. There is no effect. The MAC addresses for the l-VPLS age out independently of the aging of B-VPLS addresses. 

B. The MAC addresses for the l-VPLS will age out immediately following the remote-age out of the backbone-macs of
the B-VPLS. 

C. By default, the remote-age timer of the B-VPLS is configured to 0 and addresses do not age out. The l-VPLS uses its
own timer. 

D. The same timer is used for B-VPLS and l-VPLS addresses on the node. 

Correct Answer: B 
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